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Errata Corrige

» Laser tests of last fime were afflicted by the high laser power
> Blg ChQrge relegse W|‘|’h|n fhe pixe|s Mapfthesignalobtainedwithlaserforz:.

» Amplifiers on saturation
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Anomalously big pixels, no
presence of metal strips... B
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» Managed to set laser power (thanks to G. Kramberger and M. Zavrtanik

» Plots look better now...



New Signal Maps

» MBOT (HVStripV1) at -40V

Laser position = -700 um

Map of the signal obtained with laser for z = -700
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Laser position = -100 um

Entries 10251
Mean x 5609
Mean y 413
RMS x 104.9
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19.97 p

Laser position = -500 um

Map of the signal obtained with laser for
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Mean x 5605
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Laser position = 0 ym
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Note: step of 10 ym

Laser position = -300 um
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Laser position = 100 ym
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Resolution Calculation

Map of the signal obtained with laser for z = -300
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» 1-dimensional map at a fixed y coordinate

Y =416, in the

middle of the
pixel
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Strange pattern observed on diodes
when reducing the step...!
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FInding bbest resolution

» Charge injected should be proportional to beam spot area '

» In case of conical focusing the area scales as the squared
distance

Resolution as a function of laser position

Good fit. Minimum calculated at -214um




Best resolution signal map

» Map at z=-210um, different biases

Bias -10 V Bias -20 V Bias -30 V

ed with laser for z i Map of the signal ned with laser for z
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Map of the 0
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